SINGULARITIES OF DIRICHLET SERIES WITH COMPLEX EXPONENTS

J. R. Shackell

1. INTRODUCTION

In this paper we are concerned with the function f(s) defined by

(1)
$$f(s) = \sum_{n=1}^{\infty} a_n e^{-(\mu_n + i\nu_n)_s},$$

where μ_n and ν_n are real numbers and μ_n increases and tends to infinity.

In order to ensure that the series (1) possesses an abscissa of convergence, and that this coincides with the abscissa of absolute convergence, we shall assume that

$$(2) v_n = o(\mu_n)$$

and that

$$\frac{\log n}{\mu_n} \to 0 \text{ as } n \to \infty.$$

It is easy to see that if condition (3) is not satisfied, then the series (1) may fail to possess an abscissa of convergence, even if $\{\nu_n\}$ is bounded; as an example, we consider the series

(4)
$$\sum_{1}^{\infty} \exp \left\{-\left[\log n + (-1)^{n} 2\pi i\right] s\right\}.$$

For s = 1/4, this series becomes $i \sum (-1)^n n^{-1/4}$, which converges; but for s = 1/2, the series becomes $-\sum n^{-1/2}$, and this diverges.

Our purpose in this paper is to extend to the series (1), where μ_n and ν_n satisfy (2) and (3), the theorem of Vivanti [3], that if the arguments of the coefficients of a power series all lie within a fixed angle less than π , then the positive point on the circle of convergence is a singularity of the sum of the series.

THEOREM 1. Suppose that the series in (1) satisfies condition (3), that the abscissa of convergence σ_c is finite, and that

$$|\arg a_n - \sigma_c \nu_n| < \chi < \pi/2,$$

where $-\pi < \arg a_n \le \pi$. If $\sigma_c = 0$, suppose also that

$$|v_{n}| < M,$$

where M is some positive constant. Then f(s) has a singularity at $s = \sigma_c$.

Received March 15, 1966.

Condition (5) is in fact a natural condition, since $\arg a_n - \sigma_c \nu_n$ is the argument of the nth term of the series (1) at the point $s = \sigma_c$. We note that if $\sigma_c \neq 0$, (6) follows from (5).

Lunc [2] has pointed out that the series

$$\sum_{n=1}^{\infty} a_n e^{-\lambda} n^z = e^{-l} e^{-(l+\pi i/2)z} + e^{-l} e^{-(l-\pi i/2)z}$$

$$+ \dots + e^{-k} e^{-(k+\pi i/2)z} + e^{-k} e^{-(k-\pi i/2)z} + \dots,$$

for which $\left|\arg a_n - \sigma_c \nu_n\right| \leq \pi/2$, does not possess a singularity at the real point on the abscissa of convergence. We give as our second theorem a slight modification of Lunc's result.

THEOREM 2 (compare Lunc [2]). For each $\sigma_c \neq 0$, there exists a Dirichlet series (1) with abscissa of convergence σ_c such that

- (i) $\mu_{n+1} \mu_n > q > 0$,
- (ii) $\{v_n\}$ is bounded,
- (iii) $\left| \arg a_n \sigma_c \nu_n \right| < \pi/2$,
- (iv) the point $s = \sigma_c$ is not a singularity of f(s).

Theorem 2 shows that, in the case $\sigma_c \neq 0$, Theorem 1 is the best possible result, in the sense that Theorem 1 becomes false if we relax condition (5) to allow $\left|\arg a_n - \sigma_c \nu_n\right| \leq \pi/2$. In imposing condition (i), we have chosen the case most likely to yield Theorem 1, in that $\left|\nu_n/\mu_n\right| = O(1/n)$ and $\left\{\nu_n/(\mu_n - \mu_{n-1})\right\}$ is bounded. It is conceivable that when $\sigma_c = 0$, Theorem 1 is true for some class of unbounded sequences $\left\{\nu_n\right\}$. Whether this is the case is not known.

2. PRELIMINARIES TO PROOF OF THEOREM 1

In our proof we shall use the representation of the series (1) as a Stieltjes integral. Thus we write $a_n = a_n' e^{i\theta} n$, where $a_n' \geq 0$, and we define the quantities $\phi(t)$, $\theta(t)$, and $\alpha(t)$ as follows: Let ϕ and θ be continuous functions of t ($0 < t < \infty$) such that

- (i) ϕ is bounded and $\phi(t) = 0$ for all sufficiently small t;
- (ii) $\phi(\mu_n) = \nu_n$, $\theta(\mu_n) = \theta_n$;
- (iii) there exists a number χ' with $\chi \leq \chi' < \pi/2$ such that $|\theta(t) \sigma_c \phi(t)| \leq \chi'$ for all t (0 < t < ∞).

Finally, let
$$\alpha(t) = \sum_{\mu_n \le t} a_n'$$
. Then

(7)
$$f(s) = \sum_{1}^{\infty} a_n e^{-(\mu_n + i \nu_n) s} = \int_{0}^{\infty} \exp \left\{-s \left[t + i \phi(t)\right] + i \theta(t)\right\} d\alpha(t).$$

It is easy to see that $\phi(t)$, $\theta(t)$, and $\alpha(t)$ can be chosen to satisfy our requirements. Also, if $\phi(t)$ is chosen as above, then $\phi(t)/t$ is bounded and tends to zero as t tends to infinity. Let

(8)
$$M_{I} = \sup |\phi(t)/t|.$$

Our proof is derived from a method used by Delange [1] to obtain a theorem concerning the singularities of a class of Laplace-Stieltjes integrals.

LEMMA 1 (Delange [1]). Let x, l, λ , and μ be positive numbers $(0<\lambda<1<\mu)$, and suppose that $|y|\leq l$. Let $\alpha_1(t)$ be an increasing function such that the abscissa of convergence of the integral $\int_0^\infty \exp{(-st)}d\alpha_1(t)$ is zero. Then to each positive ϵ there corresponds an integer $N_0(\epsilon)$ such that for $n\geq N_0(\epsilon)$

(9)
$$\int_0^{\lambda n/x} \exp[-(x+iy)t] t^n d\alpha_1(t) \le n! \left[\frac{\lambda e^{1-\lambda}}{x} (1+\epsilon) \right]^n$$

and

(10)
$$\int_{\mu n/x}^{\infty} \exp[-(x+iy)t] t^n d\alpha_1(t) \leq n! \left[\frac{\mu e^{1-\mu}}{x} (1+\epsilon) \right]^n.$$

Our second lemma is a generalization of this in the case y = 0.

LEMMA 2. If x, λ , and μ are as in Lemma 1 and the conditions of Theorem 1 are satisfied, then to each positive ϵ there corresponds an integer $N(\epsilon)$ such that for $n \geq N(\epsilon)$

$$\begin{aligned} \left| A_{n}(x) \right| &= \left| \int_{0}^{\lambda n/x} \exp \left\{ -\zeta(t) \left(x + \sigma_{c} \right) + i \, \theta(t) \right\} \left[\zeta(t) \right]^{n} d\alpha(t) \right| \\ &\leq n! \left[\frac{\lambda e^{1 - \lambda}}{x} \left(1 + \epsilon \right) \right]^{n}, \\ \left| B_{n}(x) \right| &= \left| \int_{\mu n/x}^{\infty} \exp \left\{ -\zeta(t) \left(x + \sigma_{c} \right) + i \, \theta(t) \right\} \left[\zeta(t) \right]^{n} d\alpha(t) \right| \\ &\leq n! \left[\frac{\mu e^{1 - \mu}}{x} \left(1 + \epsilon \right) \right]^{n}, \end{aligned}$$

where $\zeta(t) = t + i\phi(t)$.

Since $\int_0^\infty \exp\left\{-s\,\zeta(t)+i\,\theta(t)\right\}d\alpha(t)$ is absolutely convergent for $\Re\,s>\sigma_c$, it follows that $\int_0^\infty \exp\left[-(x+\sigma_c)t\right]\,d\alpha(t)$ converges for x>0. We write

$$\int_0^\infty \exp[-(x+\sigma_c)t]d\alpha(t) = \int_0^\infty \exp(-xt)d\beta(t),$$

where $\beta(t) = \int_0^t \exp(-\sigma_c u) d\alpha(u)$. Now let

(11)
$$z_n(t) = (1 + i \phi(t)/t)^n$$
.

From (8), we obtain for all $t \ge 0$ the inequalities

(12)
$$|z_n(t)| \leq (1 + |\phi(t)/t|)^n \leq (1 + M_1)^n$$
,

while for $t \ge \frac{\lambda n}{(1 + M_1)ex}$ and $n \ge n_0(\epsilon)$

$$|z_n(t)| < (1 + \varepsilon/3)^n,$$

since $|\phi(t)/t| \to 0$ as $t \to \infty$. Now

$$\left| \int_0^{\lambda_n/x} [\zeta(t)]^n \exp\left\{-(x+\sigma_c)\zeta(t) + i \theta(t)\right\} d\alpha(t) \right|$$

$$= \left| \int_0^{\lambda \, n/x} t^n z_n(t) \exp \left\{ -xt + i \left[\theta(t) - (x + \sigma_c) \phi(t) \right] \right\} d\beta(t) \right|$$

$$\leq \int_0^{\lambda n/\left[(1+M_1)ex\right]} t^n \left|z_n(t)\right| \exp\left(-xt\right) d\beta\left(t\right) + \int_{\lambda n/\left(1+M_1\right)ex}^{\lambda n/x} t^n \left|z_n(t)\right| \exp\left(-xt\right) d\beta(t)$$

$$\leq (1+M_1)^n \int_0^{\lambda n/\left[(1+M_1)\mathrm{ex}\right]} t^n \exp\left(-xt\right) \mathrm{d}\beta(t) + (1+\epsilon/3)^n \int_0^{\lambda n/x} \exp\left(-xt\right) t^n \mathrm{d}\beta(t) \,.$$

Applying Lemma 1 to the second integral in the last member of (14), we obtain the inequality

(15)
$$\int_0^{\lambda n/x} \exp(-xt) t^n d\beta(t) \leq n! \left[\frac{\lambda e^{1-\lambda}}{x} (1 + \epsilon/3) \right]^n$$

for $n \ge N_0(\epsilon/3)$.

Also, since
$$\int_0^\infty \exp\left(-\epsilon_1\,t\right) d\beta(t)$$
 converges for every $\epsilon_1>0$,
$$\int_0^{\lambda n/\left[\left(1+M_1\right) ex\right]} d\beta(t) \leq K_1 \exp\left\{\frac{\epsilon_1 \lambda n}{(1+M_1) ex}\right\},$$

where K_1 is a constant. Since $exp(-xt)\,t^n$ increases for $0 \le t \le n/x,$ it follows that

$$\int_{0}^{\lambda n/(1+M_{1})ex} \exp(-xt)t^{n} d\beta(t) \leq K_{1} \exp\left[\frac{(\epsilon_{1}/x - 1)\lambda n}{(1+M_{1})e}\right] \left[\frac{\lambda n}{(1+M_{1})ex}\right]^{n}$$

$$< n! \left[\frac{\lambda e^{1-\lambda}}{(1+\epsilon/3)}\right]^{n} \left\{\frac{\exp\left[\lambda\left(1 - \frac{1}{(1+M_{1})e}\right)\right]}{(1+\delta)^{n}}\right\}^{n}$$

$$\leq n! \left[\frac{\lambda e^{1-\lambda}}{x} \left(1 + \varepsilon/3 \right) \right]^{n} \left\{ \frac{\exp\left[\lambda \left(1 - \frac{1}{(1+M_{1})e} \right) \right]}{(1+M_{1})e} \right\}^{n}$$

$$\leq n! \left[\frac{\lambda e^{1-\lambda}}{x} \left(1 + \varepsilon/3 \right) \right]^{n} \frac{1}{(1+M_{1})^{n}} ,$$

provided we choose ϵ_1 so that $K_1^{1/n} \exp\left\{\frac{\epsilon_1 \, \lambda}{(1+M_1) \mathrm{ex}}\right\} \leq 1 + \epsilon/3$.

Therefore, from (14), (15), and (16) we see that for n sufficiently large

$$\begin{split} \left| \int_0^{\lambda n/x} \left[\zeta(t) \right]^n \exp\left[-(x + \sigma_c) \, \zeta(t) + i \, \theta(t) \right] d\alpha(t) \right| \\ & \leq \left[1 + (1 + \epsilon/3)^n \right] n! \left[\left. \frac{\lambda e^{1 - \lambda}}{x} \, (1 + \epsilon/3) \, \right]^n \\ & \leq n! \left[\left. \frac{\lambda e^{1 - \lambda}}{x} \, (1 + \epsilon/3) \, \right]^n + n! \left[\left. \frac{\lambda e^{1 - \lambda}}{x} \, (1 + 3\epsilon/4) \, \right]^n \quad (\epsilon < 3/4) \\ & \leq 2 n! \left[\left. \frac{\lambda e^{1 - \lambda}}{x} \, (1 + 3\epsilon/4) \, \right]^n \leq n! \left[\left. \frac{\lambda e^{1 - \lambda}}{x} \, (1 + \epsilon) \, \right]^n \,, \end{split}$$

which establishes equation (a). Turning our attention to relation (b), we see from (13) and Lemma 1 that if $\epsilon < 1$ and $n \ge N(\epsilon)$, then

$$\begin{split} \left| \int_{\mu n/x}^{\infty} \left[\zeta(t) \right]^n & \exp\left[-(x + \sigma_c) \zeta(t) + i \, \theta(t) \right] d\alpha(t) \right| \\ & \leq \int_{\mu n/x}^{\infty} t^n \left| z_n(t) \right| \exp\left[-(x + \sigma_c) t \right] d\alpha(t) \\ & \leq n! \left\lceil \frac{\mu e^{1 - \mu}}{\hat{x}} \left(1 + \epsilon/2 \right) \right\rceil^n \left(1 + \epsilon/3 \right)^n \leq n! \left\lceil \frac{\mu e^{1 - \mu}}{x} \left(1 + \epsilon \right) \right\rceil^n \, . \end{split}$$

This establishes relation (b) and completes the proof of Lemma 2.

Completion of Proof of Theorem 1. Now suppose that f(s) is regular at the point $s = \sigma_c$. Then there exists a number $\rho > 1$ such that

$$f(\sigma_c + s) = \int_0^\infty \exp[-(\sigma_c + s)\zeta(t) + i\theta(t)]d\alpha(t)$$

is regular in the circle with centre at the point s = 1 and with radius ρ . Then

$$\int_{\lambda_n}^{\mu_n} \exp[-(1+\sigma_c)\zeta(t)+i\theta(t)][\zeta(t)]^n d\alpha(t) = (-1)^n f^{(n)}(1) - A_n(1) - B_n(1),$$

and therefore

$$\left| \int_{\lambda n}^{\mu n} \exp\left[-(1+\sigma_c) \zeta(t) + i \theta(t)\right] \left[\zeta(t)\right]^n d\alpha(t) \right| \leq \left| f^{(n)}(1) \right| + \left| A_n \right| + \left| B_n \right|.$$

Let M_0 be the maximum of $|f(\sigma_c + s)|$ on the circle (centre 1 and radius $\rho/(1+\epsilon/2)$), and let

$$\delta = \operatorname{Max}\left(\frac{1}{\rho}, \lambda e^{1-\lambda}, \mu e^{1-\mu}\right).$$

Clearly, $\delta < 1$, and by Cauchy's inequality,

(18)
$$|f^{(n)}(1)| \leq n! M_0 \left(\frac{1+\epsilon/2}{\rho}\right)^n \leq n! M_0 [(1+\epsilon/2) \delta]^n.$$

Therefore (12) and Lemma 2 imply that

(19)
$$\left| \int_{\lambda_{n}}^{\mu_{n}} \exp\left[-(1+\sigma_{c})\zeta(t)+i\phi(t)\right] \left[\zeta(t)\right]^{n} d\alpha(t) \right|$$

$$< (M_{0}+2)n! \left[(1+\epsilon/2)\delta\right]^{n} < n! \left[(1+\epsilon)\delta\right]^{n}$$

when n is sufficiently large.

But equation (19) cannot hold. To see this, we proceed as follows.

$$\left| \int_{\lambda n}^{\mu n} \exp\left[-(1+\sigma_{c})\zeta(t) + i\phi(t)\right] [\zeta(t)]^{n} d\alpha(t) \right|$$

$$= \left| \int_{\lambda n}^{\mu n} \exp\left\{-\zeta(t) + i\left[\theta(t) - \sigma_{c}\phi(t)\right]\right\} [\zeta(t)]^{n} d\beta(t) \right|$$

$$\geq \int_{\lambda n}^{\mu n} \Re\left\{e^{-\zeta(t)} \exp\left\{i\left[\theta(t) - \sigma_{c}\phi(t)\right]\right\}\right\} [\zeta(t)]^{n} d\beta(t).$$

Now

(21)
$$\operatorname{arg} \left\{ \exp \left[-\zeta(t) + i \left[\theta(t) - \sigma_{c} \phi(t) \right] \right] \left[\zeta(t) \right]^{n} \right\} = -\phi(t) + \theta(t) - \sigma_{c} \phi(t) + n \operatorname{arg} \zeta(t).$$

But arg $\zeta(t) = \tan^{-1}(\phi(t)/t)$, and for $t \ge \lambda n \ge \lambda n_1(\epsilon)$,

$$\left|\frac{\phi(t)}{t} - \tan^{-1}\left(\frac{\phi(t)}{t}\right)\right| < \varepsilon_1 \left|\frac{\phi(t)}{t}\right|.$$

Hence, for $\lambda n \leq t \leq \mu n$,

(22)
$$\left| \operatorname{n arg } \zeta(t) - \phi(t) \right| \leq \left| \phi(t) \right| \max \left\{ \frac{1+\epsilon_1}{\lambda} - 1, 1 - \frac{(1-\epsilon_1)}{\mu} \right\}.$$

Thus, for each $\varepsilon > 0$, we can choose λ and μ sufficiently close to 1 to ensure that

(23)
$$\left| \text{n arg } \zeta(t) - \phi(t) \right| < \varepsilon \left| \phi(t) \right|.$$

Now we have chosen $\theta(t)$ and $\phi(t)$ so that $|\theta(t) - \sigma_c \phi(t)| \le \chi'$ and $\phi(t)$ is bounded. Let $M_2 = \sup |\phi(t)|$, and choose $\varepsilon < \frac{1}{2M_2} \left(\frac{1}{2}\pi - \chi'\right)$. Then, by (21) and (23),

$$|\arg \{e^{-\zeta(t)} \exp \{i [\theta(t) - \sigma_{c} \phi(t)]\} [\zeta(t)]^{n}\}|$$

$$\leq |n \arg \zeta(t) - \phi(t)| + |\theta(t) - \sigma_{c} \phi(t)|$$

$$\leq \chi' + \frac{1}{2} (\pi/2 - \chi') = \frac{1}{2} (\pi/2 + \chi') = \chi'' < \pi/2.$$

Therefore

$$\Re \left\{ \exp \left[-\zeta(t) + i \left\{ \theta(t) - \sigma_{c} \phi(t) \right\} \right] \left[\zeta(t) \right]^{n} \right\}$$

$$\geq \cos \chi'' \left[\exp \left[-\zeta(t) + i(\theta(t) - \sigma_{c} \phi(t)) \right] \left[\zeta(t) \right]^{n} \right]$$

$$\geq \operatorname{K} \exp \left(-t \right) \cdot (1 - \varepsilon)^{n} t^{n},$$

where K is a positive constant. Therefore, by (20) and (25),

$$\left| \int_{\lambda n}^{\mu n} \exp \left\{ -\zeta(t) + i \left[\theta(t) - \sigma_{c} \phi(t) \right] \right\} \left[\zeta(t) \right]^{n} d\beta(t) \right|$$

$$\geq K (1 - \epsilon)^{n} \int_{\lambda n}^{\mu n} \exp \left(-t \right) t^{n} d\beta(t).$$

We now choose $n \ge (\mu - 1)^{-1}$ so that $\mu n \ge n + 1$. Then

$$\left| \int_{\lambda n}^{\mu n} \exp \left\{ -\zeta(t) + i \left[\theta(t) - \sigma_c \phi(t) \right] \right\} \left[\zeta(t) \right]^n d\beta(t) \right|$$

$$(27)$$

$$\geq K (1 - \varepsilon)^n \int_{n}^{n+1} \exp(-t) t^n d\beta(t) \geq K (1 - \varepsilon)^n e^{-n-1} n^n \int_{n}^{n+1} d\beta(t).$$

Now, if (19) holds, we obtain from (27) the relations

$$\int_{n}^{n+1} d\beta(t) \leq K e^{n+1} n^{-n} (1+2\epsilon)^{n} n! [(1+\epsilon)\delta]^{n} \leq K n^{1/2} [(1+4\epsilon)\delta]^{n},$$

for sufficiently large n, and hence

(28)
$$\limsup_{n\to\infty} \left\{ \int_{n}^{n+1} \exp(-\sigma_{c} t) d\alpha(t) \right\}^{1/n} < (1+4\varepsilon)\delta.$$

But (28) holds for every $\varepsilon > 0$, and therefore we have only to choose ε so that $(1 + 4\varepsilon)\delta < 1$ to ensure that

$$\limsup_{n\to\infty} \left\{ \int_n^{n+1} \exp(-\sigma_c t) d\alpha(t) \right\}^{1/n} < 1.$$

This being so, there exists an $\eta > 0$ such that

$$\limsup_{n\to\infty} \left\{ \int_n^{n+1} \exp(-\sigma_c t) d\alpha(t) \right\}^{1/n} < e^{-\eta},$$

and therefore, since

$$\int_{n}^{n+1} \exp\left[(\eta - \sigma_{c})t\right] d\alpha(t) < e^{\eta(n+1)} \int_{n}^{n+1} \exp\left(-\sigma_{c} t\right) d\alpha(t),$$

we have the inequalities

$$\limsup_{n\to\infty} \left\{ \int_{n}^{n+1} \exp[(\eta - \sigma_{c})t] d\alpha(t) \right\}^{1/n}$$
(29)
$$\leq e^{\eta} \limsup_{n\to\infty} \left\{ \int_{n}^{n+1} \exp(-\sigma_{c}t) d\alpha(t) \right\}^{1/n} < 1.$$

Therefore the series $\sum\limits_{1}^{\infty}\int\limits_{n}^{n+1}\exp\left[(\eta-\sigma_{c})t\right]d\alpha(t)$ converges, and hence the integral $\int_{0}^{\infty}\exp\left[(\eta-\sigma_{c})t\right]d\alpha(t)$ also converges; in other words, the integral

$$\int_0^\infty \exp\left(-s\,\zeta(t)+i\,\theta(t)\right)d\alpha(t)$$

is absolutely convergent at the point $s=\sigma_c-\eta$. But this contradicts the definition of σ_c as the abscissa of convergence of this integral. It follows that f(s) must have a singularity at $s=\sigma_c$, and Theorem 1 is thus established.

3. PROOF OF THEOREM 2

Consider the series $\sum_{n=1}^{\infty} a_n e^{-(\mu_n + i\nu_n)s} = f(s)$, where

$$a_n = \exp \frac{\sigma_c n}{2}, \quad \mu_n = n/2, \quad \nu_n = \frac{(-1)^n \pi}{2\sigma_c}.$$

Here

(30)
$$f(s) = \sum_{1}^{\infty} \exp\left\{-\frac{n}{2}(s - \sigma_c) - \frac{(-1)^n i\pi s}{2\sigma_c}\right\}.$$

If n is even, we write n = 2r, combine the (2r - 1)st and 2r-th terms, and obtain the relations

$$f(s) = \sum_{r=1}^{\infty} e^{-r(s-\sigma_c)} \left\{ e^{(s-\sigma_c)/2} e^{i\pi s/2\sigma_c} + e^{-i\pi s/2\sigma_c} \right\}$$

$$= \sum_{r=1}^{\infty} e^{-r(s-\sigma_c)} \left\{ \cos \frac{\pi s}{2\sigma_c} \left[e^{(s-\sigma_c)/2} + 1 \right] + i \sin \frac{\pi s}{2\sigma_c} \left[e^{(s-\sigma_c)/2} - 1 \right] \right\}$$

$$= \frac{\cos \frac{\pi s}{2\sigma_c} \left[e^{(s-\sigma_c)/2} + 1 \right] + i \sin \frac{\pi s}{2\sigma_c} \left[e^{(s-\sigma_c)/2} - 1 \right]}{e^{s-\sigma_c} - 1}.$$

By choice of a_n , the series clearly has abscissa of convergence σ_c , and we see from (31) that f(s) is regular at the point σ_c .

The author would like to thank Professor Noble for much help and constructive criticism; he also thanks the S.R.C. for financial support during the period in which this paper was written.

REFERENCES

- 1. H. Delange, Sur les points singuliers de la fonction définie par une intégrale de Laplace-Stieltjes, J. Analyse Math. 5 (1956/57), 1-33.
- 2. G. L. Lunc, On the Landau-Pringsheim theorem, Izv. Akad. Nauk Azerbaidžan. SSR Ser. Fiz.-Mat. Tehn. Nauk 1963, no. 1, 73-79.
- 3. G. Vivanti, Sulle serie di potenze, Rivista di Mat. 3 (1893), 111-114.

University of Kent at Canterbury